Quiz for unit 7

I. choose the best answer to complete the sentence

1. Every ______ person should read this book.

A. literate B. literary C. literal D. literature

2. He continued speaking, ______ my feeling on the matter.

A. regarding B. with regard to C. as regards D. regardless of

3. Thank you so much for help — I ______ it without you.

A. didn’t do B. couldn’t do C. couldn’t have done D. shouldn’t have done

4. ______ is amazing that none of the passengers were hurt in the accident.

A. This B. That C. It D. What

5. Our success ______ an increase in sales.

A. rest in B. rest on C. rest with D. rest from

6. She could not have taken the large doses. ______, she did not have enough pills.

A. Or rather B. In the first place C. Even though D. As a result

7. If someone says something against my girlfriend, I ______.

A. take it to heart B. bring it to an end C. set it right D. come to its attention

8. This TV program is intended ______ to entertain its viewers as to inform them.

A. as B. much too C. so D. as much

9. Her novels are an odd ______ of English reserve and Welsh emotionalism.

A. symmetry B. sympathy C. synthesis D. symphony

10. If they ______ time, they would study Chinese too.

A. have B. had C. have had D. would have

11. The tallest buildings in London are small in ______ with those in New York.

A. comparison B. compassion C. community D. companion

12. This point has been dealt with in the ______ paragraph.

A. precedent B. preceding C. precious D. precocious

13. Trains ______ delay after the heavy snowfalls.

A. subject B. subject to C. are subject to D. are subjected to
14. A fund will be ______ for the dead men’s families.

A. set down B. set out C. set to D. set up

15. The sun ______ set, we arrived at the station.

A. has B. having C. to have D. is

16. He will agree to do what you require ______ him.

A. of B. from C. to D. for

17. He was ______ of the latest developments in physics because he had been in hospital for several months.

A. aware B. sure C. robbed D. ignorant

18. Because Edgar was convinced of the accuracy of this fact, he ______ his opinion.

A. struck at B. strove for C. stuck to D. stood for

19. There is no ______ in going to school if you’re not willing to learn.

A. reason B. aim C. point D. purpose

20. Bill refused to go home at this ______ stage of his experiment.

A. superior B. superficial C. cautious D. critical

21. What measures have been ______ to control the crowd at Saturday’s football match?

A. thought B. made C. given D. taken

22. Mr. Johnson ______ the opportunity to speak to the president.

A. realized B. held C. seized D. discovered

23. Word got around ______ he had resigned his position as executive secretary of the committee.

A. when B. that C. after D. which

24. They were planning to provide a medical service which would ______ both the rich and the poor.

A. gain B. oppose C. recover D. benefit

25. According to the report, the situation there has become ______ grave in the last few days.

A. consequently B. repeatedly C. increasingly D. wholly

26. Although this area is very poor now, its ______ wealth is great.

A. peculiar B. plentiful C. potential D. present.

27. At that critical moment, I was fortunately able to ______ my companion to take my advice.

A. affect B. expect C. persuade D. stimulate

28. The minister ______ to say whether all the local mines would be closed.

A. refused B. avoided C. denied D. rejected

29. ______ the salary meets my expectations I will accept the job offer.

A. Although B. Even if C. Unless D. Provided

30. Tom’s university education gave him an advantage ______ boys who had not been to a college.

A. to B. than C. over D. above

II. Cloze

Before the 20th century the horse provided day to day transportation in the United States. Trains were used only for long distance transportation.

Today the car is the most popular 1 of transportation in all of the United States. It has completely 2 the horse as a means of everyday transportation. Americans use their car for 3 90 percent of all personal 4 . Most Americans are able to 5 cars. The average price of a 6 made car was $2,050 in 1950, $2,740 in 1960 and up to 4,750 7 1975. During this period American car manufacturers set about 8 their products and work efficiency. As a result, the yearly income of the 9 family increased from 1950 to1975 10 than the price ofcars. For this reason 11 a new car takes a smaller 12 of a family’s total earnings today. In 1951 13 it took 8.1 months of an average family’s 14 to buy a new car. In 1962 a new car 15 6.43months of a family’s earnings. By 1975 it took 4.75 16 income. In addition, the 1975 cars were technically 17 to models from previous years. The 18 of the automobile extends throughout the economy 19 the car is so important to Americans. Americans spend more money to 20 their cars running than on any other item.

1. A. kinds B. sort C. mean D. types

2. A. denied B. reproduced C. replaced D. ridiculed

3. A. hardly B. nearly C. certainly D. somehow

4. A. trip B. works C. business D. travel

5. A. buy B. sell C. race D. see

6. A. quickly B. regularly C. rapidly D. recently

7. A. on B. in C. behind D. about

8. A. raising B. making C. reducing D. improving

9. A. unusual B. interested C. average D. biggest

10. A. slowest B. equal C. faster D. less

11. A. bringing B. obtain C. brought D. purchasing

12. A. part B. half C. number D. side

13. A. clearly B. proportionally C. percentage D. suddenly

14. A. income B. work C. plans D. debts

15. A. used B. spent C. cost D. needed

16. A. month’s B. dollar’s C. family D. year

17. A. famous B. superior C. fastest D. purchasing

18. A. running B. notice C. influence D. discussion

19. A. then B. as C. so D. which

20. A. start B. leave C. keep D. repair

III. Reading comprehension

PASSAGE 1

Whether the eyes are “the windows of the soul” is debatable；that they are intensely important in interpersonal communication is a fact. During the first two months of a baby’s life, the stimulus that produces a smile is a pair of eyes.

The eyes need not be real: a mask with two dots will produce a smile. Significantly, a real human face with eyes covered will not motivate a smile, nor will the sight of only one eye when the face is presented in profile. This attraction to eyes as opposed to the nose or mouth continues as the baby matures. In one study, when American four year old were asked to draw people, 75 percent of them drew people with mouths, but 99 percent of them drew people with eyes. In Japan, however, where babies are carried on their mother’s back, infants do not acquire as much attachment to eyes as they do in other cultures. As a result, Japanese adults make little use of the face either to encode (把……编码) or decode (理解)meaning. In fact, Argyle reveals that the “proper place to focus one’s gaze during a conversation in Japan is on the neck of one’s conversation partner.”

The role of eye contact in a conversational exchange between two Americans is well defined: speakers make contact with the eyes of their listener for about one second, then glance away as they talk; in a few moments they reestablish eye contact with the listener or reassure themselves that their audience is still attentive, then shift their gaze away once more. Listeners, meanwhile, keep their eyes on the face of the speaker, allowing themselves to glance away only briefly. It is important that they be looking at the speaker at the precise moment when the speaker reestablishes eye contact: if they are not looking, the speaker assumes that they are disinterested and either will pause until eye contact is resumed or will terminate the conversation. Just how critical this eye maneuvering is to the maintenance of conversational now becomes evident when two speakers are wearing dark glasses: there may be a sort of traffic jam of words caused by interruption, false starts, and unpredictable pauses.

1. The author is convinced that the eyes are ______.

A. of extreme importance in expressing feelings and exchanging ideas

B. something through which one can see a person’s inner world

C. of considerable significance in making conversations interesting

D. something the value of which is largely a matter of long debate

2. Babies will not be stimulated to smile by a person ______.

A. whose front view is fully perceived B. whose face is covered with a mask

C. whose face is seen from the side. D. whose face is free of any covering

3. According to the passage, the Japanese fix their gaze on their conversation partner’s neck because ______.

A. they don’t like to keep their eyes on the face of the speaker

B. they need not communicate through eye contact

C. they don’t think it polite to have eye contact

D. they didn’t have much opportunity to communicate through eye contact in babyhood

4. According to the passage, a conversation between two Americans may break down due to ______.

A. temporary glancing away from the listener B. eye contacts of more than one second

C. improperly timed ceasing of eye contact D. constant adjustment of eye contacts

5. To keep a conversation flowing smoothly, it is better for the participants ______.

A. not to wear dark spectacles B. not to make any interruptions

C. not to glance away from each other D. not to make unpredictable pauses

PASSAGE 2

The third function of an economy is to determine who gets the product. Family A gets $5 000 worth of goods this year, family B five times as much — how is the division to be decided? The incomes of individuals are determined by the quantities of resources (labor skills, capital in all forms) they own and the prices they receive for the use of these resources. Workers are incited by the price system to acquire new skills and to exercise them diligently, and families are encouraged to savings (capital accumulation) by the payment of interest or dividends. The inheritance of both personal ability and wealth also enters into the distribution of income.

If the price system is working reasonably well, it performs all of these economic functions with remarkable subtlety and precision. Society desires not only the correct amount of wheat but also that it be consumed more or less evenly over the crop year, with a surplus to carry over in case of a partial failure of the next year’s crop. The price system provides a seasonal price pattern that encourages the holding of inventories rather than early splurging and richly rewards speculators who correctly anticipate a crop failure and hold grain that will alleviate it. In the same way, the desires of every sizable group of consumers (or resource owners) are registered through the price system; entrepreneurs are incited by price offers toprovide opera and musical comedy, kosher food, and Persian delicacies.

High prices in a properly functioning price system thus serve as incentives to produce more and consume less, and lower prices serve as corresponding deterrents. In addition the price system is a method of communicating information. Herbert Spencer once stated, rather ponderously, that only by constant iteration can alien truths be impressed upon reluctant minds: the price system, with its capacity for infinite repetition, is well suited to this sometimes unpleasant task. A higher price of steel scrap, for example, tells thousands of owners and collectors of scrap that more scrap is wanted and that more exhaustive search for abandoned rails, boilers, radiators, and machines is worth undertaking. A higher price of gasoline tells thousands of automobile drivers that gasoline should be used more sparingly, and the message is repeated each time each driver purchases more gasoline.

6. According to this passage, the distribution of income is determined by all of the following factors, except ______.

A. the price system B. wealth accumulated C. productivity growth D. new labor skills

7. Which of the following best summarizes the main idea of the second paragraph?

A. The seasonal price pattern best satisfies the desire of society for a balanced supply of wheat.

B. The price system is able to satisfy the desires of every sizable group of consumers.

C. The price system can satisfactorily perform any of its economic functions.

D. It is possible to lower costs of production by standardizing products.

8. All of the following statements are true, except ______.

A. High prices never appear in a properly functioning price system

B. Lower prices indicate that there is more supply than demand

C. Higher prices indicate that there is more demand than supply

D. It is normal for the price of a perishable product to vary with seasons

9. The author’s attitude toward the issue of distribution is ______.

A. critical B. impartial C. suspicious D. sympathetic

10. What does the word underlined in the last paragraph mean?

A. repetition. B. demonstration. C. clarification. D. organization.
Key to Quiz for Unit 7

1. 汉译：凡有文化的人都该读一读此书。【解析】答案为A) literate 有读写能力的，有文化的。B) literary文学的，文学上的；C) literal 按照原文的，字面的；D) literature 文学，文学作品，文献。
2. 汉译：他不顾及我在此事上的感情继续往下说。【解析】答案为D) regardless of不顾，不理会。A) regarding，汉译：非常感谢你的帮助——没有你我不可能完成这件事。【解析】答案为C)。这是一个含蓄虚拟条件句。without you 暗含一种条件。
4. 汉译：令人惊讶的是没有一位旅客在这次事故中受伤。【解析】答案为C)。名词性从句用作句子的主语时，通常用it 作形式主语。
5. 汉译：我们的成功在于销售量的增加。【解析】答案为B) rest on 依靠，依赖。A) rest in 这个短语不存在；C) rest with( 做某事) 是某人的责任；D) rest from (... 后) 休息。
6. 汉译：她不可能大剂量服药。首先，她没有足够的药丸。【解析】答案为B) in the first place 首先，第一。A) or rather 或者，确切点说；C) even though 即便如此；D) as a result 因此。
7. 汉译：如果有人说了我女朋友的坏话，我会为此而烦恼的。【解析】答案为A) take ...to heart 因……而烦恼。B) bring ...to end 使……结束；C) set ...right 校正，纠正；D) come to the attention of 引起……的关注，其主语常是物，而宾语是人。
8. 汉译：这个电视节目的目的既是娱乐观众，同时又给观众提供信息。【解析】答案为D) as much ...as与……一样，与……同样。其他三个选项都不合题意。
9. 汉译：她的小说把英格兰人的拘谨和威尔士人的情感外露很独特地结合在一起。【解析】答案为C)synthesis 综合，合成体。A)symmetry 对称，相称；B)sympathy 同情；D) symphony 交响乐。
10. 汉译：假如他们有时间，他们也会学中文。【解析】答案为B)。本题考查的是与现在事实相反的虚拟语气，条件从句中用动词的过去式，主句谓语动词用would+ 动词原形的虚拟语气。
11. 汉译：伦敦最高的建筑与纽约的相比就矮了。【解析】答案为A)，in comparison with 构成固定短语，意为“与……相比”。B) compassion 同情，怜悯；C) community 团体；D) companion 同伴，同事，都不能与之搭配。
12. 汉译：这一点在前面一段里已经交代过了。【解析】答案为B) preceding a. 在先的，在前的，前面的。A)precedent n. 先例；C) precious a. 贵重的，宝贵的；D)precocious a. 早熟的。
13. 汉译：一下大雪，火车就往往误点。【解析】答案为C) be subject to 常有，常患，倾向于……，符合题意。subject ...to... 使经历，使遭受。
14. 汉译：抚恤死难工人家属的基金会即将建立起来。【解析】答案为D) set up 建立，开创。A) set down 写下，记下；B) set out 出发，开始做；C) set to 精力充沛地开始做。
15. 汉译：我们是在太阳下山后到达车站的。【解析】答案为B)。本题考查的是独立主格结构。该结构通常由分词构成，从句有自己的主语。
16. 汉译：他会同意做你要求他做的事。【解析】答案为A) require sth. of sb. 要求某人做某事。其他三个选项的介词 B)from， C) to， D) for 不与require搭配。
17. 汉译：他不了解物理学上的最新发展，因为他住院了好几个月。【解析】答案为D) ignorant 无知，不知道。A) be aware of 知道，了解，与原因状语从句语意不符；B)be sure of 确定；C) rob sb. of sth. 抢夺；剥夺。
18. 汉译：埃德加由于确信这一事实的准确性而坚持自己的观点。【解析】答案为C) stuck to 坚持。A) struck at sb./sth. 向某人/ 某物打去；B) strove for ( 为获得或实现某事物) 努力，奋斗；D) stood for 代表。
19. 汉译：如果你不愿学习，去学校也没有用。【解析】答案为C) point 价值，后接介词in，是固定用法，意为“有意义，有用”。A) reason 理由；B) aim 目标； D) purpose 目的，均不接介词in。
20. 汉译：比尔拒绝在他这个实验的关键阶段回家。【解析】答案为D) critical 关键的。A) superior 优良的，优等的；B) superficial 表面的，肤浅的；C) cautious 小心的。
21. 汉译：为管理观看周六足球赛的观众采取了什么措施?【解析】答案为D) take measures 采取措施。其他三个选项的动词不与measures 搭配。
22. 汉译：约翰逊先生抓住机会与总统交谈。【解析】答案为C)， seize the opportunity 抓住机会，与全句意思相符。A) realized 意识到；B) held 握住，持有；D) discovered 发现。
23. 汉译：有传言他辞去了委员会执行秘书职务。【解析】答案为B)， that 引导的从句做word 的同位语。A)__ when 与上下文不符；C) after 和D) which 不引导同位语从句。
24. 汉译：他们正在计划提供使富人和穷人都受益的医疗服务。【解析】答案为D) benefit sb. 使某人受益。A) gain 获得；B) oppose 反对；C) recover 恢复。
25. 汉译：据报道，那儿的形势在过去几天里日益严重。【解析】答案为C) increasingly 越来越。A) consequently所以，因而；B) repeatedly 重复地；D) wholly 完整地。
26. 汉译：这个地区虽然现在很穷，但是拥有巨大的潜在财富。【解析】答案为C) potential 潜在的。A) peculiar奇异的，罕有的；B) plentiful 丰富的，大量的；D) present 目前的。
27. 汉译：在那个关键时刻，我很幸运地说服我的同伴采纳了我的意见。【解析】答案为C) persuade 劝说，说服。A) affect 影响；B) expect 期望；D) stimulate 刺激，激励。
28. 汉译：部长拒绝透露当地所有的矿井是否都要被关闭。【解析】答案为A) refuse拒绝某事且态度坚决，常用refuse to do 形式。B) avoid 避免，只用avoid doing sth.；C) deny 否认，后跟that 从句，名词或动名词；D) reject 不能接受或抛弃无用之物，只用于reject sth。
29. 汉译：如果这份工作的薪水达到我预想的标准，我就接受这份工作。【解析】答案为 D)Provided 假如。A) Although 虽然；B) Even if 即使， 引导让步状语的连词；C)Unless 除非。根据句意，应选D)。
30. 汉译：汤姆所受的大学教育使他比未上大学的男孩子占优势。【解析】答案为C)over 。have /gain /win an advantage over sb. 具有获得/ 赢得优势，为固定搭配，give sb. an advantage over 给某人优势。
II. Cloze:

解析：
1. 答案为B) sort。表示种类的词中，只有“sort”最合适。而最高级后面所用之词又是名词单数形式，所以不能用kinds 和types这些复数名词来表示最高级。而只有复数形式的means才表示“方式或种类”。所以本题正确答案为B)。
2. 答案为C) replaced。 replace 意为“代替，取代”，而denied 意为“否定”，reproduced 表示“再生”，ridiculed意为“荒唐可笑的”。只有C) 最合题意。
3. 答案为B) nearly。 nearly 意为“几乎，差不多”符合题意，而其他几项从句意来看都不符合题意。
4. 答案为：D) travel。 travel 意为“旅行”。 travel 一般泛指各种旅行。而trip 一般指短途旅行。其余选项不符合文义。
5. 答案为A) buy。 从文义来看，本句应为“大多数的美国人都能买得起轿车”。
6. 答案为D) recently。 从文中来看，只有recently“最近地”最符合文义。
7. 答案为B) in。本句是与上文并列衔接的，前文用了in 表示年份，故后句也应用in 表示。
8. 答案为D) improving。从上下文来看，与“products and work efficiency”搭配的词语应该是improving( 改善，提高)，而其他选项都不可以。
9. 答案为C) average。average family 表示普通家庭，这与文意相符。
10. 答案为C) faster。 从经济发展趋势上看，居民收入增长应该快于小汽车价格的增长。
11. 答案为D) purchasing。 表示购买的词只有purchase 最适合。而buy 只表示普通的买，而非正式的大宗的购买。
12. 答案为A) part。a small part of 意为“一小部分”。购买一辆新的小轿车只需花费家庭总收入的一小部分。
13. 答案为B) proportionally。 proportionally 意为“按比例地”，在本句中副词做状语，而其他几项均不符合题意。
14. 答案为A) income。 income 在此句中表示家庭收入，而其他几项脱离文义。
15. 答案为A) spent。 表示花费时间可用spend，而不能用其他几个词。
16. 答案为A) month’s。从上文来看，本句应指475 个月的收入。
17. 答案为B) superior。随着科技和经济的发展，小汽车从技术上应该优越于前几年的汽车模式。
18. 答案为C) influence。 influence 表示汽车的影响，而其他几项均不合题意。
19. 答案为B) as。 文中用as 表示“随着……”。符合文义。__20. 答案为C) keep。 文中一直都在说汽车给人们带来的变化，从四个选项来看，只有keep...running 最能表
示这种持续的状态。
III. Reading comprehension

1. 答案为A)。题解：文章第一句，作者认为眼睛在人与人之间的交流中具有重要作用(that they are intensely important...is a fact)，人的许多思想和感情可以通过眼睛来帮助传达，A) 符合文章内容。B)、C) 、D) 表达均不准确。C) 的干扰性最大，其中的interesting 一词是文中没有提及的。
2. 答案为C)。题解：第一段第四句“...a real human face...in profile.”可见，如果孩子只是看到了侧面像即一只眼睛时就不会笑。所以，C) 符合文章内容。
3. 答案为D)。题解：第一段第7 — 8 句“In Japan...use of the face”( 日本的婴儿是背在妈妈背上的，不像其他国家的婴儿，常用目光与人交流，因而长大之后没有谈话时注视对方目光的习惯，而是用眼睛注视对方的脖子)。所以，D) 符合文章内容。
4. 答案为C)。题解：第二段中的第2 — 3 句我们知道，在交谈过程中听者可以短暂地将目光从说话者脸上移开，但是当说话者的目光停留在听者脸上的一瞬间，听者一定得看着对方，否则交谈就可能停下来。C)符合文章内容。A)错，作者并未说明眼神不可以移开。只要未被对方发现就行。B)、D)与文章内容不符。
5. 答案为A)。题解：参见文章最后一句——显然，交谈时双方的目光接触对保持交谈顺利进行十分重要。若谈话双方戴上墨镜，则会出现由于目光障碍造成的语塞、抢话和意想不到的冷场等。
6. 答案为C) 。题解：这种题可用排除法。在原文第一段作者提到了决定个人收入的因素：财富的多少，使用财富得到的价格，以及遗传的个人能力和遗传的财富。没有提到C) 项。
7. 答案为C) 。题解：解这种找主要内容的题，就是回到原文出处去找主题句。主题句往往出现在段首或段尾，偶尔也出现在段中。本段的主题句为第一句。其余各句都是以一个社会的小麦生产为例具体说明了主题句。A) 项只是一个例子；B) 项歪曲了原文的意义，D) 项则根本没有提到。
8. 答案为A) 。题解：解这种题也可采用排除法。B)、C) 项根据自己的经济常识也知道是正确的，而且从原文第三段也可得出结论；而D) 项则从第二段能找出答案。
9. 答案为B)。题解：本文作者比较客观地分析了the distribution of income 这个问题。A) 意为“批判的”；B) 意为“公正的”；C) 意为“怀疑的”；D) 意为“同情的”。
10. 答案为A) 。题解：在决定某个词在某篇文章里的意义时，有两个基本的方法。一是根据构词法来推断词的意义，一是根据上下文来进行推断。本题适合第二个方法。在原文的意思是“只有通过不断重复才能让古怪的真理给那些不愿接受新东西的人留下深刻的印象。”然后作者紧接着举例，提到了“无限的重复”，实际上就是对“constant iteration”的另一个说法。

